Math 306 Term 4 Test 1

Similarities

 50 Points

Name: _____________________________________________                              

Group: _____

Section 1 – True/False: Use a “T” to indicate a true answer, and an “F” to indicate a false answer.

1) _____ A scale factor greater than one indicates the scale of the larger object compared to the smaller object.

2) _____ If the length and width of a rectangle are doubled, the area will also double.

3) _____ Scale ratios are always calculated by comparing the two objects from left to right. 

4) _____ Two squares are always similar.

5) _____ Two isosceles triangles are always similar.

NOTE: For all the similarities in the following sections, express the ratios from the largest to smallest object.

Section 2 – For the following similar objects, give the scale factor (ratio) and find the unknown (x, y or z).
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7) x  = _________                                               9) y = __________
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11) x  = _________                                               13) y = __________ 
14) z = __________
Section 3 – For the following similar objects, give the ratio of area and determine the perimeter (P) and/or area (A) of the larger figure.
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16) P = __________



18) P = __________
19) A = __________

Section 4 – Find the missing ratios.
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Section 4 – Find the missing ratios (continued).
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Section 5 – Similarities:  The ratio of two similar rectangles is 25. What is the width, length and perimeter of 


   the big rectangle if the dimensions of the small rectangle are 8 by 6 cm?

38) __________ cm = width,
39)__________ cm = length &
40) __________ cm = perimeter of the big rectangle.

Section 6 – Similarities: Solve for x. NOTE: The triangles are right angle.
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43) _____
                   8         10                                                                            4                          x
                                      x                  30


                                                                                                                         2

                                                                                                                                                             10


42) _____ 





44) _____  = the area of the largest rectangle above.
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                        V = 216                                      

                                                                            x

                                                         V = 512

Section 7 – Fill in the blanks: Replace each “smiley-face” with a word or number.
45) _________________________ The process whereby the size of an object changes to be larger or smaller 

      is known as ☺.

46) _________________________ The scale ratio of two similar cylinders is 6. If the smaller cylinder can hold 500L 

     of water, the larger cylinder can hold ☺L of water.

47) _________________________ The scale ratio of two similar storage barns is 3. They are rented according to m2.

     The larger barn rents for $5400/month and the smaller barn rents for $☺/month.

48) _________________________ The scale ratio of two similar swimming pools is 1½. If the large pool holds 

     1,904,000 L of water, the smaller pool will hold ☺L of water.

49) _________________________ One of the requirements for objects that are similar is that all their corresponding

    
     angles must be ☺.
50) _________________________ The side, height and ☺ratios are all the same value.
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